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6HJDOD� SXML� EDJL� $OODK� 6XEKDQDKX�ZD� 7D¶DOD� DWDV� VHJDOD� QLNPDW�� UDKPDW�� VHUWD�

NDUXQLD�1\D�VHKLQJJD�SHQXOLV�GDSDW�PHQ\HOHVDLNDQ�7XJDV�$NKLU�\DQJ�WHODK�GLVXVXQ�

GHQJDQ� MXGXO� ³237,0$6,� 9$5,$%(/� 3(0(6,1$1� 9,%5$7,21� $66,67('�

7851,1*� �9$7�� 8178.� 0(0,1,0$/.$1� &877,1*� 7(03(5$785(�

0(1**81$.$1� 0(72'(� 7$*8&+,´�� 7XJDV� $NKLU� LQL� GLVXVXQ� XQWXN�

PHPHQXKL�VDODK�VDWX�V\DUDW�NHOXOXVDQ�6WUDWD���7HNQLN�,QGXVWUL��)DNXOWDV�5HND\DVD�

,QGXVWUL��8QLYHUVLWDV�7HONRP��0HOHQJNDSL�UDVD�V\XNXU�SHQXOLV��WHULPDNDVLK�VHEHVDU�

EHVDUQ\D�SHQXOLV�XFDSNDQ�NHSDGD�

�� $OODK�6XEKDQDKX�ZD�7D¶DOD�\DQJ�VHQDQWLDVD�PHOLPSDKNDQ�QLNPDW�1\D�

NHSDGD�SHQXOLV�VHKLQJJD�SHQXOLV�GDSDW�PHQ\HOHVDLNDQ�7XJDV�$NKLU� LQL�

GHQJDQ�ODQFDU�

�� %DSDN� +DULV� 5DFKPDW� 6�7��� 0�0�� VHODNX 3HPELPELQJ� ,� \DQJ�

VHQDQWLDVD�PHPELPELQJ�SHQXOLV�VHODPD�SURVHV�SHUQJHUMDDQ�7XJDV�$NKLU�

EHUODQJVXQJ��

�� %DSDN�'HQQ\�6XNPD�(ND�$WPDMD�6�7���0�0��VHODNX�3HPELPELQJ�,,�

\DQJ�VHQDQWLDVD�PHPELPELQJ�GDQ�PHPEHULNDQ�PDVXNDQ�VHODPD�SURVHV�

SHQJHUMDDQ�7XJDV�$NKLU

�� %DSDN�5LQR�$QGLDV�$QXJUDKD�6�7���0�0��\DQJ�VHQDQWLDVD�PHPEDQWX�

GDQ�PHPEHULNDQ�VDUDQ�PDVXNDQ�VHODPD�SURVHV�SHQJHUMDDQ�7XJDV�$NKLU

3HQXOLV� EHUKDUDS� VHPRJD� 7XJDV� $NKLU� LQL� GDSDW� EHUPDQIDDW� EDJL� VHPXD� SLKDN��

.ULWLN�GDQ� VDUDQ� \DQJ�PHPEDQJXQ� VDQJDW�SHQXOLV�KDUDSNDQ�GLNDUHQDNDQ�SHQXOLV�

PHQ\DGDUL� EDKZD� 7XJDV� $NKLU� LQL� PDVLK� MDXK� GDUL� NHVHPSXUQDDQ�� $NKLU� NDWD��

VHPRJD�$OODK�6XEKDQDKX�ZD�7D¶DOD PHOLPSDKNDQ�UDKPDW�GDQ�NDUXQLD�1\D�NHSDGD�

NLWD�VHPXD�
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